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Question 1   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

What is the value of digit 1 in 915 482?

A) 10

B) 100

C) 1000

D) 10 000

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,951,407

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 2   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Mrs Tay baked 204 cookies. After giving 6 cookies to each of her students, she had 12 cookies left.
How many students did Mrs Tay give the cookies to? 

A) 204 - 12 / 6

B) 204 + 12 / 6

C) (204 - 12) / 6

D) (204 + 12) / 6
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Question 3   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A) 1/2

B) 1/12

C) 3/8

D) 5/8

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,951,439
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 |  Edit  |  Duplicate  |  Used In
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Question 4   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A) 1/5

B) 2/5

C) 2/15

D) 4/15

Question Type: Multiple Choice
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Question 5   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

There are 16 sweets and 32 lollipops in a basket. What is the ratio of the number of lollipops to the total
number of sweets and lollipops? 

A) 1 : 3

B) 2 : 3

C) 3 : 1

D) 3 : 2

Question Type: Multiple Choice
Randomize Answers: No
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Last Modified: N/A
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Question 6   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

What percentage of the figure is shaded? 


A) 11%

B) 25%

C) 44%

D) 55%

Question Type: Multiple Choice
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Question 7   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A photocopier can print 9000 pages per hour. How many pages can the photocopier print in 30
minutes?

A) 150

B) 450

C) 2700

D) 4500

Question Type: Multiple Choice
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Question 8   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Hafif watched a movie at a cinema that lasted for 1 h 35 min. The movie started at 11.45 a.m. What
time did the movie end? 

A) 1.20 p.m. 

B) 12.20 p.m.

C) 3.20 p.m.

D) 10.10 a.m.

Question Type: Multiple Choice
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Question 9   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A figure is drawn in a square grid below. Which two lines are perpendicular to each other? 
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A) AB and AE

B) AB and DE

C) AE and DE

D) CD and DE

Question Type: Multiple Choice
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Last Modified: N/A
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Question 10   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

How many trays of eggs were sold altogether in the five days?

A) 130

B) 135
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C) 140

D) 150

Question Type: Multiple Choice
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Question 11   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

What percentage of the total number of trays of eggs were left unsold at the end of the five days?

A) 25%

B) 30%

C) 35%

D) 70%

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,951,546

 Answers
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Question 12   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

A ribbon was cut into two pieces in the ratio 2 : 5. The difference in length between the two pieces was
15 cm. What was the length of the ribbon before it was cut? 

A) 25 cm

B) 35 cm

C) 45 cm
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D) 75 cm

Question Type: Multiple Choice
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Question 13   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

A)

B)

C)

D)
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Question 14   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Last year, Raine completed a race in 42.4 seconds. This year, she completed the same race 6.7
seconds faster. How long did she take to complete the race this year? Round your answer to the
nearest second. 

A) 35 seconds

B) 36 seconds

C) 49 seconds

D) 50 seconds

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,951,600

 Answers
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Question 15   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

A) Smallest Largest

X Z Y

B) Smallest Largest

Y X Z

C) Smallest Largest

Z X Y
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D) Smallest Largest

Z Y X

Question Type: Multiple Choice
Randomize Answers: No
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Question 16   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Find the value of 30 - (6 + 12) / 3 x 2.

Accepted answers:

18

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,951,642

Correctly answered feedback
30 - 18 / 3 x 2 = 30 - 6 x 2

                      = 30 - 12

                      = 18

Incorrectly answered feedback
30 - 18 / 3 x 2 = 30 - 6 x 2

                      = 30 - 12

                      = 18

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 17   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Ray listed the common factors of 24 and 36 below. 


1, 2, 4, 6


He missed out two common factors. What are the two missing factors?

Accepted answers:

3 and 12

12 and 3

3, 12

3 12

3 / 12

3/12
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12/3

12 / 3

12, 3

12,3

3,12

12 3

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,951,660

 Answers
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Question 18   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Write down one decimal between 2.1 and 2.11

Accepted answers:

2.101

2. 101

2 .101

2 . 101

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,951,672

 Answers
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Question 19   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

4.5%

4.5 %

4 . 5 %

4. 5%
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4. 5 %

4 .5%

4 .5 %

4 . 5%

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
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Correctly answered feedback

Incorrectly answered feedback
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Question 20   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Accepted answers:

1/3

1 / 3

Question Type: Free Text
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Last Modified: N/A
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Correctly answered feedback
12 / 4 = 3

1 / 3 = 1/3

Incorrectly answered feedback
12 / 4 = 3

1 / 3 = 1/3

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 21   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Accepted answers:

40cm square

40 cm square

40cm

40 cm

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,951,789

Correctly answered feedback
1/2 x (16+8) x 10 = 120

1/2 x 16 x 10 = 80

120 - 80 = 40cm2

Incorrectly answered feedback
1/2 x (16+8) x 10 = 120

1/2 x 16 x 10 = 80

120 - 80 = 40cm2

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 22   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts
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There are 40 beads in a box. 25% of the beads are red, 30% of the beads are blue and the remaining
beads are yellow. How many yellow beads are there? 

Accepted answers:

18

18 yellow beads

18 beads

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,954,814

Correctly answered feedback
40 / 100 = 0.4

0.4 x 45 = 18

Incorrectly answered feedback
40 / 100 = 0.4

0.4 x 45 = 18

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 23   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Accepted answers:

980 cm cube

980cm cube

980

980 cm

980cm

Question Type: Free Text
Date Added: Wed 8th Sep 2021
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Last Modified: N/A
QID#: 28,954,844

Correctly answered feedback

7 x 7 x 20 = 980cm3

Incorrectly answered feedback

7 x 7 x 20 = 980cm3

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 24   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Accepted answers:

235 degrees

235 degree

235degree

235degrees

235

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,954,856

Correctly answered feedback

360 - 35 - 90 = 235o

Incorrectly answered feedback

360 - 35 - 90 = 235o

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 25   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts
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Accepted answers:

$3.30

$3 .30

$3. 30

$3 . 30

$ 3.30

$ 3. 30

$ 3 .30

$ 3 . 30

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,954,878

Correctly answered feedback
260 - 100 = 160

160 / 50 = 3 R10

3 + 1 = 4

4 x 0.50 = 2

2 + 1.30 = $3.30

Incorrectly answered feedback
260 - 100 = 160

160 / 50 = 3 R10

3 + 1 = 4

4 x 0.50 = 2

2 + 1.30 = $3.30

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 26   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Mrs Lim used 2.5 kg of flour to bake a cake and 2.12 kg of flour to bake 12 muffins. What is the total
mass of flour (in kg) needed to bake 2 such cakes and 6 such muffins? 

Accepted answers:

6.06 kg
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6.06kg

6.06

6. 06kg

6. 06 kg

6 .06kg

6 .06 kg

6 . 06kg

6 . 06 kg

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,954,954

Correctly answered feedback
2.5 x 2 = 5

2.12 / 2 = 1.06

5 + 1.06 = 6.06 kg

Incorrectly answered feedback
2.5 x 2 = 5

2.12 / 2 = 1.06

5 + 1.06 = 6.06 kg

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 27   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Accepted answers:

44

44degree

44degrees

44 degree

44 degrees

https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28954954
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Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,954,968

Correctly answered feedback

180 - 68 - 68 = 44o

Incorrectly answered feedback

180 - 68 - 68 = 44o

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 28   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Accepted answers:

3/7

3 / 7

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,954,974

Correctly answered feedback

https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28954968
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Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 29   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Find Angle BCD. 

Accepted answers:

120 degree

120 degrees

120degree

120degrees

120

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,954,986

Correctly answered feedback

120o

Incorrectly answered feedback

120o

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 30   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28954974
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Choose the words that describe triangle BCD correctly in the following statement: 

Clue Match

Triangle BCD ______ an isosceles triangle
because

is

Points: + 0.5  − 0

Angle CBD ______ equal to Angle BDC. is

Points: + 0.5  − 0

Incorrect match option is not

Question Type: Matching
Shuffle Mode: Shuffle Matches Only
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,006

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 31   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Accepted answers:

96cm square

96 cm square

96cm

96 cm

https://0cm.classmarker.com/10070943_KM7P7VJB.jpg
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Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,019

Correctly answered feedback
24 / 2 = 12

72 - 20 - 24 = 28

28 - 12 = 16

1/2 x 16 x 12 = 96cm2

Incorrectly answered feedback
24 / 2 = 12

72 - 20 - 24 = 28

28 - 12 = 16

1/2 x 16 x 12 = 96cm2

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 32   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Accepted answers:

$1166.30

$ 1166.30

$1,166.30

$1, 166.30

$1,166 . 30

$1,166. 30

$1,166 .30

$1166 .30

$1166. 30

1166.30

1166. 30

1166 .30

https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28955019
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https://www.classmarker.com/a/tests/test/order/?test_id=1811376
https://0cm.classmarker.com/10070943_HWGO250N.jpg


9/20/21, 10:52 PM ClassMarker - Manage Test

https://www.classmarker.com/a/tests/test/?test_id=1811376&trk=edittest_inrow_edit 21/39

1166 . 30

1,166.30

1,166. 30

1,166 .30

$ 1,166 .30

$ 1,166. 30

$ 1 166.30

$1 166.30

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,036

Correctly answered feedback

Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 33   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

The ratio of the number of cookies to the number of pies in a bakery is 5 : 7. Given that there are 126
pies, how many more cookies must be baked so that there is an equal number of cookies and pies in
the bakery?

Accepted answers:

36

36 cookies

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,043

Correctly answered feedback
7 - 5 = 2

126 / 7 = 18

18 x 2 = 36

https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28955036
https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28955036&duplicate_question=1
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Incorrectly answered feedback
7 - 5 = 2

126 / 7 = 18

18 x 2 = 36

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 34   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Accepted answers:

504

504 markers

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,050

Correctly answered feedback

Incorrectly answered feedback

https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28955043
https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28955043&duplicate_question=1
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 35   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Accepted answers:

19

19 degree

19 degrees

19degrees

19degree

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,070

Correctly answered feedback
180 - 98 = 82

82 / 2 = 41

60 - 41 = 19o

Incorrectly answered feedback
180 - 98 = 82

82 / 2 = 41

60 - 41 = 19o

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 36   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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Find the area of the shaded part of the figure.

Accepted answers:

150cm square

150 cm square

150cm

150 Cm

150

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,091

Correctly answered feedback

1/2 x 25 x 12 = 150cm2

Incorrectly answered feedback

1/2 x 25 x 12 = 150cm2

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 37   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

https://0cm.classmarker.com/10070943_ICS0YG9Z.jpg
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Find the length of RB.

Accepted answers:

15cm

15 cm

15

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,101

Correctly answered feedback
150 x 2 = 300

300 / 20 = 15cm

Incorrectly answered feedback
150 x 2 = 300

300 / 20 = 15cm

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 38   Primary 5 Maths » Primary 5 Maths (Term 4) 3 pts

Andy and Ben had the same number of cards. Andy gave 96 cards to his friends and Ben gave 44
cards to his cousins. At the end, Ben had thrice as many cards left as Andy. How many cards did each
of them have at first?

Accepted answers:

122

122 cards

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,130
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Correctly answered feedback
3u + 44 = 1u + 96

3u - 52 = 1u

52 / 2 = 26

26 + 96 = 122

Incorrectly answered feedback
3u + 44 = 1u + 96

3u - 52 = 1u

52 / 2 = 26

26 + 96 = 122

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 39   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Greg, Sue and Jonas had some stamps. Jonas had seven times as many stamps as Sue. The ratio of
the total number of stamps Greg and Sue had to the total number of stamps Sue and Jonas had was 5
: 8.


Find the ratio of the number of stamps Greg had to the number of stamps Sue had to the number of
stamps Jonas had. 

Accepted answers:

4 : 1 : 7

4:1:7

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,147

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 40   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Greg, Sue and Jonas had some stamps. Jonas had seven times as many stamps as Sue. The ratio of
the total number of stamps Greg and Sue had to the total number of stamps Sue and Jonas had was 5
: 8.


Given that Jonas had 72 more stamps than Sue, how many stamps did Greg have?

Accepted answers:

48

48 stamps

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,156

Correctly answered feedback
72 / 6 = 12

12 x 4 = 48

https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28955130
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Incorrectly answered feedback
72 / 6 = 12

12 x 4 = 48

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 41   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Farhan rented a bicycle for 2 hours. How much did he pay?

Accepted answers:

$25

$ 25

25

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,172

Correctly answered feedback
1 / 1/2 = 2

2 x 5 = 10

10 + 15 = $25

Incorrectly answered feedback
1 / 1/2 = 2

2 x 5 = 10

10 + 15 = $25

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 42   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28955156
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Lisa rented a bicycle. She paid $65 for the rental charges. Given that she returned the bicycle to the
shop at 2.30 p.m., what would be the earliest time she started renting the bicycle? 

Accepted answers:

8.30 am

8.30am

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,188

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 43   Primary 5 Maths » Primary 5 Maths (Term 4) 3 pts

Accepted answers:

96 degrees

96 degree

96

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,194
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Correctly answered feedback
180 - 78 - 60 = 42

180 - 42 - 42 = 96o

Incorrectly answered feedback
180 - 78 - 60 = 42

180 - 42 - 42 = 96o

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 44   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

What is the average amount of money that the driver earned from Monday to Friday?

Accepted answers:

$170

$ 170

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,209

Correctly answered feedback
60 + 240 + 110 + 90 + 350 = 850

850 / 5 = $170

Incorrectly answered feedback
60 + 240 + 110 + 90 + 350 = 850

850 / 5 = $170

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 45   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

The average amount of money that the driver earned on Saturday and Sunday was $87 more than the

https://www.classmarker.com/a/tests/qb/manage/?test_id=1811376&question_id=28955194
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average amount of money that he earned from Monday to Friday. 


Write down one possible set of values for the amount of money that he earned on Saturday and
Sunday. 

Accepted answers:

$250, $264

$ 250, $ 264

$264, $250

$ 264, $ 250

250, 264

264, 250

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,225

Correctly answered feedback
$170 + 87 = 257

257 x 2 = 514

Ans: $250, $264

Incorrectly answered feedback
$170 + 87 = 257

257 x 2 = 514

Ans: $250, $264

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 46   Primary 5 Maths » Primary 5 Maths (Term 4) 3 pts

Daisy has the same number of small and large pots. Each small pot weighs 1.05 kg less than each
large pot. The total mass of all the large pots is 32.3 kg and the total mass of all the small pots is 14.45
kg. What is the mass of each large pot?

Accepted answers:

1.9kg

1.9 kg

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,243

Correctly answered feedback
32.3 - 14.45 = 17.85

17.85 / 1.05 = 17

32.3 / 17 = 1.9kg

Incorrectly answered feedback
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32.3 - 14.45 = 17.85

17.85 / 1.05 = 17

32.3 / 17 = 1.9kg

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 47   Primary 5 Maths » Primary 5 Maths (Term 4) 5 pts

Accepted answers:

$32040

$32, 040

$32,040

$32 ,040

$32 , 040

$ 32040

$ 32,040

$ 32, 040

$ 32 ,040

$ 32 , 040

$32 040

$ 32 040

32 040

32040

32,040

32 ,040

32 , 040

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,404

Correctly answered feedback
2900 x 8 = 23200

23200 + 3500 = 26700

26700 / 5 = 5340

5340 x 6 = $32 040

Incorrectly answered feedback
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2900 x 8 = 23200

23200 + 3500 = 26700

26700 / 5 = 5340

5340 x 6 = $32 040

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 48   Primary 5 Maths » Primary 5 Maths (Term 4) 3 pts

Accepted answers:

16

16 cones

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,422

Correctly answered feedback
18.3 x 100 = 1830

1830 - 25 - 25 = 1780

780 / (25 +100) = 14 R30

14 + 2 = 16

Incorrectly answered feedback
18.3 x 100 = 1830

1830 - 25 - 25 = 1780

780 / (25 +100) = 14 R30

14 + 2 = 16

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 49   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Sam paid $216 for 3 similar pairs of pants and 5 similar shirts. He could not buy another pair of similar
pants with his remaining money as he was short of $15. Instead, he bought another similar shirt and
had $9 left. 


How much more did each pair of pants cost than each shirt?
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Accepted answers:

24

$24

$ 24

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,444

Correctly answered feedback
15 + 9 = 24

Incorrectly answered feedback
15 + 9 = 24

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 50   Primary 5 Maths » Primary 5 Maths (Term 4) 4 pts

Sam paid $216 for 3 similar pairs of pants and 5 similar shirts. He could not buy another pair of similar
pants with his remaining money as he was short of $15. Instead, he bought another similar shirt and
had $9 left. 


How much money did Sam have at first?

Accepted answers:

243

$243

$ 243

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,457

Correctly answered feedback
24 x 3 = 72

216 - 72 = 144

144 / 8 = 18

216 + 18 + 9 = 243

Incorrectly answered feedback
24 x 3 = 72

216 - 72 = 144

144 / 8 = 18

216 + 18 + 9 = 243

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Q ti 51
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Question 51   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

With $8, Peter can get at most 12 pens from the bookshop. What is the price of each pen printed in the
advertisement? 

Accepted answers:

$0.80

$0. 80

$ 0.80

$0 .80

$0 . 80

$ 0. 80

$ 0 . 80

$ 0 .80

0.80

0. 80

0 .80

0 . 80

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,474

Correctly answered feedback
12 / 6 = 2

2 x 4 = 8

8 + 2 = 10

8 / 10 = $0.80

Incorrectly answered feedback
12 / 6 = 2

2 x 4 = 8

8 + 2 = 10

8 / 10 = $0.80

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 52   Primary 5 Maths » Primary 5 Maths (Term 4) 3 pts
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Sally needed 32 pens. What would be the least amount of money she had to pay?

Accepted answers:

$20.80

$20. 80

$20 .80

$20 . 80

$ 20.80

$ 20. 80

$ 20 .80

20.80

20 .80

20. 80

20 . 80

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,607

Correctly answered feedback
32 / 5 = 6 R2

6 x 4 = 24

24 + 2 = 26

26 x 0.80 = $20.80

Incorrectly answered feedback
32 / 5 = 6 R2

6 x 4 = 24

24 + 2 = 26

26 x 0.80 = $20.80

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 53   Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Ms Tan baked some chocolate and vanilla cupcakes. After she sold 224 cupcakes, she had 576
cupcakes left. She had 96 more vanilla cupcakes than chocolate cupcakes left. 
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How many chocolate cupcakes did she have left?

Accepted answers:

240

240 chocolate cupcakes

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,634

Correctly answered feedback
480 / 2 = 240

Incorrectly answered feedback
480 / 2 = 240

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 54   Primary 5 Maths » Primary 5 Maths (Term 4) 3 pts

Ms Tan baked some chocolate and vanilla cupcakes. After she sold 224 cupcakes, she had 576
cupcakes left. She had 96 more vanilla cupcakes than chocolate cupcakes left. 


Given that she sold 1/4 of the chocolate cupcakes, what percentage of the vanilla cupcakes did she
sell?

Accepted answers:

30%

30 %

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,664

Correctly answered feedback

Incorrectly answered feedback
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 55   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

How many 3 cm cubes did he cut out from the block of wood?

Accepted answers:

400

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: N/A
QID#: 28,955,687

Correctly answered feedback
8 x 5 x 10 = 400

Incorrectly answered feedback
8 x 5 x 10 = 400

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Q ti 56
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Question 56   Primary 5 Maths » Primary 5 Maths (Term 4) 2 pts

Find the volume of the remaining wood. 

Accepted answers:

1680cm cube

1680 cm cube

1,680 cm cube

1680 cm

1680cm

1,680cm

1,680 cm

Question Type: Free Text
Date Added: Wed 8th Sep 2021
Last Modified: Thu 9th Sep 2021
QID#: 28,955,705

Correctly answered feedback
3 x 3 x 3 = 27

400 x 27 = 10800

26 x 16 x 30 = 12480

12480 - 10800 = 1680 cm3

Incorrectly answered feedback
3 x 3 x 3 = 27

400 x 27 = 10800

26 x 16 x 30 = 12480

12480 - 10800 = 1680 cm3

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test
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